
135,44133,881,56

11,6 %

L=
39,1

39,1

1189,5

T
31

139,17137,122,05

3,6 %
L=

89 ,5

89,5

1279,0 Zawór odpowietrzający

T
32 9,5 %

L=
11 7,9

117,9

istn. ks rozkop  ø200  Rd=131,88

istn. kabel teletech.  ø20  Ro=134,65
istn. kabel energ. NN  ø20  Ro=134,81
istn. kabel energ. NN  ø20  Ro=134,88

istn. kabel energ. NN  ø20  Ro=136,02
istn. kabel energ. NN  ø20  Ro=136,05

istn. wod.  ø32  Ro=136,30
istn. ks rozkop  ø160  Rd=137,05

istn. ks rozkop  ø160  Rd=136,96
istn. wod.  ø32  Ro=137,48

istn. kabel teletech.  ø20  Ro=135,07

istn. wod.  ø50  Ro=133,00

istn. wod.  ø50  Ro=132,51

istn. kabel energ. NN  ø20  Ro=131,95

istn. ks rozkop  ø160  Rd=130,38

P
ozio m

 porów
n aw

czy 125 ,00 m
 n.p.m

.

R
z
ęd na terenu

R
z
ęd na osi ruro ciągu [m

]

Z
agłę bienie osi rurociągu

S
pad ek

O
dleg ło

ści [m
]

O
dleg ło

ści [m
]

M
ate riał

D
ługo

ś
ć trasy [m

]

132,93129,343,591150,4

T
30

128,00125,952,051396,9

T
33

110×
10,0 T

S
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D
R

11_zw


